ORDER #003294



Cyrano Rox Experience 530 Molino St Suite 104 Los Angeles, Ca. 90013

Order Date: February 14, 2023

Due Date: Upon Receipt

PO:

Shipping Address: MARRIOTT IRVINE SPECTRUM 7905 Irvine Center Dr, Irvine, CA 92618

EVENT DATE: MARCH 30TH, 2023

INSTALL: WEDNESDAY AT 9:00AM-9:30AM

PICK UP: THURSDAY AT 4PM

BALLROOM ONLY

COURTYARD PICK UP AT 6PM

escription		Qtty	Price		Total
eneral					
	PURPLE CARPET RUNNER 8FT X 50FT	1	\$720.00	Т	\$720.00
	Dior Barstool, Black BLACK CUSHIONS	9	\$20.00	Т	\$180.00
	Wired Cocktail Table	6	\$110.00	Т	\$660.00
	Uplights FOR THE TREES	22	\$40.00	Т	\$880.00
	Twinkle Lights for Room, 88ft x 57ft x 17.5ft Height WITH TRUSS AND HARWARE BLACK TRUSS COLOR SLEEVES	1	\$4,000.00	Т	\$4,000.00
	Sofia 360° Bar	1	\$1,800.00	Т	\$1,800.00
	Custom Decal *FOR SOFIA BAR*	12	\$55.00	Т	\$660.00
<u>•</u>	Dior Barstool GOLD with WHITE CUSHION	24	\$27.50	Т	\$660.00
			Total General		\$9,560.00
OUNGE VIGNE	ETTE #1				
	High Back Sofa, Purple 6'	4	\$750.00	Т	\$3,000.00
	Belmont Lounge Chair	8	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Chanelled Arm Chair, Emerald	8	\$0.00	T	\$0.00
	Stump Coffee Table, Rose Gold	4	\$0.00	T	\$0.00
	Suede Ottoman- Dark Purple	12	\$0.00	Т	\$0.00
	Hot Pink Carpet, 6ft x 8ft	4	\$86.40	Т	\$345.60
		Total LO	Total LOUNGE VIGNETTE #1		
LOUNGE VIGN	ETTE #2				
	Ava Sofa, Emerald Green 8ft	2	\$750.00	Т	\$1,500.00
	Ava Arm Chair, Grey	4	\$0.00	T	\$0.00
	Everly Lounge Chair, Black	4	\$0.00	Т	\$0.00
	Stump Coffee Table, Rose Gold	2	\$0.00	Т	\$0.00
	Suede Ottoman - Hot Pink	6	\$0.00	Т	\$0.00
	Purple Carpet, 6ft x 8ft SLITTING FEE / CARPET PROVIDED BY CYRANO	2	\$35.00	Т	\$70.00
		Total LO	Total LOUNGE VIGNETTE #2		\$1,570.00
LOUNGE VIGN	ETTE #3				
A THUM	Ava Sofa, Navy Blue 8ft	2	\$750.00	Т	\$1,500.00
	Ava Arm Chair, Grey	4	\$0.00	T	\$0.00
6	Aria Arm Chair, Off White	4	\$0.00	T	\$0.00
	Midas Coffee Table	2	\$0.00	T	\$0.00
	Suede Ottoman - Hot Pink	6	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	Purple Carpet, 6ft x 8ft SLITTING FEE / CARPET PROVIDED BY CYRANO	2	\$35.00	T	\$70.00
		Total LOUNGE VIGNETTE #3		E #3	\$1,570.00
LOUNGE VIGNI	ETTE #4				
	Chanel Curved Sofa, Silver 6ft	2	\$750.00	Т	\$1,500.00
	Everly Lounge Chair, Black	4	\$0.00	Т	\$0.00
	Venus Lounge Chair, Blush	4	\$0.00	T	\$0.00
	Gem Coffee Table, Gold	2	\$0.00	T	\$0.00
	Suede Ottoman- Dark Purple	6	\$0.00	T	\$0.00
	Hot Pink Carpet, 8ft x 6ft	2	\$86.40	Т	\$172.80
		Total LOU	JNGE VIGNETTE	E # 4	\$1,672.80
LOUNGE VIGNI	ETTE #5				
	Orgel Sofa, Hot Pink	2	\$750.00	Т	\$1,500.00
	Ava Arm Chair, Navy Blue	4	\$0.00	T	\$0.00
	Celine Lounge Chair	4	\$0.00	T	\$0.00
	Midas Coffee Table	2	\$0.00	T	\$0.00
	Suede Ottoman - Hot Pink	6	\$0.00	T	\$0.00
	Purple Carpet, 6ft x 8ft SLITTING FEE / CARPET PROVIDED BY CYRANO	2	\$35.00	T	\$70.00
		Total LOUNGE VIGNETTE #5		\$1,570.00	
ADDITIONAL					
	Stage, 4ft x 4ft x 2ft Height with Black Carpet Cover	1	\$160.00	Т	\$160.00

Description		Qtty	Price	Total
			Total ADDITIONAL	\$160.00
Services				
	Trucking Fee	2	\$250.00	\$500.00
	Installation Fee	1	\$1,200.00	\$1,200.00
	Breakdown Fee	1	\$975.00	\$975.00
	Labor to Return Thursday at 2pm CREW TO INSTALL STAGE + MOVE BAR OUTSIDE	1	\$250.00	\$250.00
	LABOR TO HANG PAPER TACOS (FISHWIRE AND PAPER TACOS PROVIDED BY CLIENT)	1	\$150.00	\$150.00
	1% WC Fee	1	\$206.10	\$206.10
Notes			Total Products:	\$19,448.40
		Total L	.abor/Services/Misc:	\$3,281.10
			Taxes:	\$1,573.02
			Discounts:	(\$2,890.26)
			Total:	\$21,412.26
			Payments:	(\$20,816.24)
			Balance:	\$596.02